FILL IN THE BLANKS: You wish to estimate f'(2.1) giventhat f(2)=3 and f'(2)=-5. SCORE: /5 PTS

Your answers may use decimals.
The correct answer to one of these questions is “UNKNOWN?”,
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A lantern is mounted at the top of a 14 foot tall pole. A 6 foot tall woman walks towards the pole SCORE: /10 PTS
with a speed of 4 feet per second along a straight path. How fast is the tip of her shadow moving when she is 20 feet from the pole ?

You must state clearly what each variable you use represents.
You must state the units for the final answer. You do NOT need to show the units during the intermediate steps of your work.
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Use an appropriate lmear ap%roxlmatlon to estimate \/80.55 : SCORE: /6 PTS
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Two sides of a triangle have lengths 6 yards and 4 yards. The angle between them is increasing at a rate of SCORE: /9 PTS

3° per minute. How fast is the length of the third side increasing when the angle between the sides of fixed length is 56° ?
Your answers may use decimals.

You must state clearly what each variable you use represents.
You must state the units for the final answer. You do NOT need to show the units during the intermediate steps of your work,
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